REVIEW    Quantum Mechanical Model and Electron Configuration Worksheet
Name:_________________________  Period____  Date_________________
1. Name the sublevels that may be found in the 3rd energy level; then specify how many orbitals in each of the sublevels.

2. How compare the energy of electrons located in: 4s,  2px, 2pz, 3py 

3. Explain why the 3s orbital cannot hold 3 or more electrons.

4. What is meant by    a) 2p3 ?    b) 1s2 ?

5. Draw boxes representing orbital. Respond: how many unpaired electrons in the outermost sublevel of  a) Nitrogen    b) Fluorine   c) Neon. 
6. Complete the following table:   
	Principal Energy Level

	# of Sublevels 
	sublevels
	Max # orbitals per sublevels
	Max # e-   per sublevel

	1
	 
	 
	1s= 1
	s= 2

	2
	 2
	2s,   2p
	s=      p= 
	s=    p= 

	3
	 
	
 
	s=      p=      d=
	s=    p=    d=

	4
	  
	 
	s=     p=     d=     f=
	s=    p=    d=   f=


7. In the specific case of ground configuration for Aluminum ( z= 13)
a) How many sublevels in the third level?
b) How many orbitals in 3p sublevel?
8. How many electrons are in the highest occupied energy level of :

a. Sodium                 b. Sulfur                 c. Bromine 


9. Write the electron configuration for atoms of the following elements:
a.  Vanadium
b.  Magnesium
c.  Cobalt
d.  Boron
e.  Strontium
  f.   Zinc
10. Write the electron configuration for elements in question nine by using the noble gas notation.

11. Write the electron configuration for the atoms whose atomic number are:

a. 22     b.  14     c.  20     d.  7   e. 32

